(a) horizontally, with X= X coscut 1/2 $L = \frac{1}{2}m(\dot{x}^{2}+\dot{y}^{2}) - mgl(1-\cos\phi)$ x=lsing + xocoscut $= \frac{1}{2} m \left[(l \phi \cos \phi - \chi_{w} \sin \omega t)^{2} + l^{2} \phi^{2} \sin \phi \right] - mg l (1 - \cos \phi)$ x=ldcost - x.wsinwt y = l(1-cosp) y=lipsing $L = \frac{1}{2}m \left[\frac{2}{p^2} - \chi_o^2 \omega \sin \omega t - 2 \left[\chi_o \omega \phi \cos \phi \sin \omega t\right] - mgl(1 - \cos \phi)\right]$ $EOM \rightarrow \overline{At}(\overline{\partial \phi}) = \overline{\partial \phi}$ d (ml & - mlx w simutcos\$) = -mgl sin\$ +mlx w\$sin\$sinwt l'\$ = lxw(wcosutcost - \$sincutsing) - glsin\$+lxwipsing = - = sing + Xow cosut cost EOM let $\phi = \overline{\phi} + \overline{\phi} + \overline{\phi} + \overline{\phi}$ $\vec{\phi} + \vec{\phi} = -\frac{3}{2} \sin[\vec{\phi} + \vec{\phi}] + \frac{\chi_{out}^2 \cos(\omega t \cos[\vec{\sigma} + \vec{\phi}])}{2}$ Expand \$ + \$ = - 2 sin\$ - 2 \$ \$ cos\$ + Xow Coswt - Xow \$ \$ coswt sin\$ Tast Parts $\vec{\phi} = -\frac{\partial}{2}\sin\phi - \frac{\chi_{ow}^{2}}{2}\sin\phi \langle \vec{\phi}\cos\omega t \rangle \leftarrow (need to find)$ Forget this part because w² >> $\frac{\partial}{2}$ $\vec{\phi} = -\frac{\partial}{2}\phi(\cos\phi + \frac{\chi_{ow}^{2}}{2}\cos\omega t\cos\phi)$ $\tilde{\phi} = a(\tilde{\phi}) \cos \omega t \rightarrow - \omega^2 a(\tilde{\phi}) \cos \omega t = \frac{\chi_0 \omega^2}{2} \cos \tilde{\phi} \cos \omega t$ $a(\overline{p}) = -\frac{\chi_0}{T} \cos \overline{p}$

<cos 20+)= 1/2 Plug in for B then $(\tilde{\phi} \cos \omega t) = \langle -\frac{\chi_0}{2} \cos \phi \cos^2 \omega t \rangle$ $= -\frac{x_0}{20} \cos \phi$ Back to Averaged Eq. $\vec{\phi} = -\frac{2}{2}\sin\phi - \frac{\chi_0^2\omega}{2\theta^2}\cos\phi\sin\phi$ $\vec{\phi} = -\frac{\partial}{\partial s}\sin\phi - \frac{\chi^2\omega^2}{40^2}\frac{d}{ds}(\sin^2\phi)$ $\vec{\phi} = -\frac{d}{d\phi} \left[-\frac{\vartheta}{2} \cos\phi + \frac{\chi_0 \omega}{4\theta^2} \sin^2\phi \right]$ Verseetive -> $-\frac{3}{L}\cos\phi + \chi_0^2 \omega^2 \sin^2\phi$ $\frac{1}{2} - \frac{1}{2}\cos\phi$ $\frac{du}{d\phi} = \frac{g}{l} \sin \phi + \frac{\chi_0^2 \omega^2}{4l^2} \sin 2\phi = 0$ Extrema for \$=0, TT] For Stability $look @ \frac{d^2u}{d\phi^2} = \frac{\partial}{\partial}cos\phi + \frac{\chi^2 w^2 cos(2\phi)}{20^2} > 0. \quad for \phi = TT$ 2 + 2° w2 70 $\frac{\omega^2 \chi_0^2}{2\ell^2} \xrightarrow{\mathcal{G}} for stable equil.$

(b) In a circle: X, = 6 coscot y= rosinwt $L = \pm m(\dot{x}^2 + \dot{y}^2) - mgy$ X= lsing + 1, cosut X = locoso - Gusinwt y=l(1-cosp)+ r. sinwt y=løsing + fowcosut L- 1/2m (lp2 + r. wint - 2r. wlpcospsinut + r. wint + 2r. wlpsinpcosut) - mgl(1-cosp) - mgr. Sinwt EOM: dt (20) = dL ml2 + mrowl de [sinpcosut - cospinut] = - mglsimpimrowl psinpsinut + pc l'\$ + rowl \$ cost - wsinpsinut + & singsinut - wcospcosut = -mglsing + rowl [& sinpsinut + & cost for t $\beta = \frac{r_{o}w^{2}}{l} \left[sinpsimut + cospcosut \right] - \frac{3}{l} sinp$ we can write $\phi = \overline{\phi} + \widetilde{\phi}$ made of a slowly varying, and fast varying $\xrightarrow{\varphi} = \frac{r_0 \omega^2}{\ell} \left[\sin(\overline{\varphi} + \overline{\phi}) \sin \omega t + \cos(\overline{\varphi} + \overline{\phi}) \cos \omega t \right] - \frac{2}{\ell} \sin[\overline{\varphi} + \overline{\phi}]$ Expand $\vec{\#} + \vec{\#} = \underbrace{c_{0}}_{F} \sin \vec{\phi} \sin \vec{\phi} \sin \omega t + \frac{r_{0}}{2} \underbrace{\vec{\phi}} \cos \vec{\phi} \sin \psi t + \frac{r_{0}}{2} \underbrace{\vec{\phi}} \cos \vec{\phi} \cos \psi t - \underbrace{c_{0}}_{F} \underbrace{\vec{\phi}} \sin \vec{\phi} \cos \psi t + \underbrace{c_{0}}_{F} \underbrace{\vec{\phi}} \cos \psi t - \underbrace{c_{0}}_{F} \underbrace{\vec{\phi}} \sin \vec{\phi} \cos \psi t + \underbrace{c_{0}}_{F} \underbrace{\vec{\phi}} \cos \psi t - \underbrace{c_{0}}_{F} \underbrace{\vec{\phi}} \sin \vec{\phi} \cos \psi t + \underbrace{c_{0}}_{F} \underbrace{\vec{\phi}} \cos \psi t + \underbrace{c_{0}}_{F} \underbrace{\vec{\phi}$ Take Time Average so only Slavly Varing terms survive $\vec{\phi} = -\frac{9}{4}\sin\phi + \frac{r_{ow}^{2}\cos\phi}{4}\cos(\phi) - \frac{r_{ow}^{2}\sin\phi}{4}\sin\phi$

To find
$$\overline{\theta}'$$
, we can just lak at the bit varying parts
 $\overline{\phi} = \frac{4\pi^2}{2} \sin \overline{\theta} \sin \overline{\theta} \sin \overline{\theta} + \frac{6\omega^2}{2} \cos \overline{\theta} \cos \overline{\theta} - \frac{1}{2} \overline{\theta} \frac{\partial \delta \partial \theta}{\partial \theta}$
 $\overline{\theta} = \alpha(\overline{\theta}) \sin \omega t + \alpha^2 \delta(\overline{\theta}) \cos \omega t - \frac{1}{2} \overline{\theta} \frac{\partial \delta \partial \theta}{\partial \theta}$
 $\overline{\theta} = \alpha(\overline{\theta}) \sin \omega t - \omega^2 \delta(\overline{\theta}) \cos \omega t - \frac{1}{2} \cos \overline{\theta} \sin \overline{\theta} \sin \omega t + \frac{6\omega^2}{2} \cos \overline{\theta} \cos \overline{\theta} \cos \overline{\theta} + \frac{1}{2} \sin \overline{\theta} \cos \overline{\theta} \cos \overline{\theta} + \frac{1}{2} \sin \overline{\theta} \sin \overline{\theta} \cos \overline{\theta} + \frac{1}{2} \sin \overline{\theta} \sin \overline{\theta} \cos \overline{\theta} + \frac{1}{2} \sin \overline{\theta} \sin \overline{\theta} \cos \overline{\theta} + \frac{1}{2} \sin \overline{\theta} \cos \overline{\theta} \cos \overline{\theta} \cos \overline{\theta} + \frac{1}{2} \sin \overline{\theta} \cos \overline{\theta} \cos \overline{\theta} \cos \overline{\theta} + \frac{1}{2} \sin \overline{\theta} \cos \overline{\theta} \cos \overline{\theta} \cos \overline{\theta} + \frac{1}{2} \sin \overline{\theta} \cos \overline{\theta} \cos \overline{\theta} \cos \overline{\theta} \cos \overline{\theta} \cos \overline{\theta} \cos \overline{\theta} + \frac{1}{2} \sin \overline{\theta} \cos \overline{$

page 12 $2 \cdot 1 \cdot y = y \cdot \cos \omega t$ $\int \frac{1}{y} \cdot y = \frac{1}{y} \cdot \cos \omega t$ $\int \frac{1}{y} \cdot y = \frac{1}{y} \cdot \frac{1}{w} = \frac{1}{2w_0 + 2}$ y'=1(1-000) X=lsin0 $I = \pm m(\dot{x}^{2} + (\dot{y}' + \dot{y})^{2}) - mg(y' + y)$ = 1 m(x2+y2+y12+2yyi) +mg(y1+y) $= \frac{1}{2}m(l^2\partial^2 + wy^2 \sin^2wt + 2y_0 lw\dot{\partial} \sin\theta \sinwt) + mg[lccool - y_ccout] + mg[lccool - y_ccout] = ml^2\dot{\partial} + y_0 lwcool \partial \sinwt \dot{\partial} + y_0 lw^2 \sin\theta ccoowt) = my_0 lw\dot{\partial} ccool \sinwt - mg[sind)$ -> p^0 + y lw2 sin Ocoswe = - glsin0 l'Öryo lw'd coswe z- glo 0 + yow20 coswt = -g/20 $\ddot{\theta} + (\frac{y_0 w^2 \cos w \epsilon}{r} + g) \theta = 0$ $\theta + \omega_{\mathcal{Q}}^{2} \theta + \frac{\gamma_{\mathcal{Q}}}{\mathcal{L}} \omega^{2} (\partial \mathcal{L} \theta = 0)$ $\frac{\partial}{\partial} + w_{o}^{2} \partial + \frac{Y_{o}}{k} (4w_{o}^{2} + 4w_{o} \mathcal{E}) \cos w \mathcal{E} \partial = 0$ 0 + wo 0 + 10 (4wo + 4wo E) cos (2wo + E) 0 = 0 $-\operatorname{page} 12 \frac{\theta + w^{2} (1 + \frac{49}{\xi} \cos(2w_{0} + \varepsilon)) \theta}{\xi} = 0 + \operatorname{Mathieu's}$

 $\frac{|age 13}{|ae \theta - a(w_{o} + \varepsilon/2)e]} + b(e) \sin[(w_{o} + \varepsilon/2)e] = b(e) \sin[(w_{o} + \varepsilon/2)e]$ $\ddot{\theta} = \ddot{a}\cos - \dot{a}\frac{\omega}{2}\sin - \dot{a}\frac{\omega}{2}\sin - a\frac{\omega^2}{4}\cos + \dot{b}\sin + b\frac{\omega}{2}\cos + b\frac{\omega}{2}\cos - b\frac{\omega^2}{4}\sin - \dot{a}\frac{\omega}{4}\sin - a\frac{\omega^2}{4}\cos + b\frac{\omega}{2}\cos + b\frac{\omega}{2}\cos + b\frac{\omega}{2}\cos + b\frac{\omega}{4}\cos - b\frac{\omega^2}{4}\sin - a\frac{\omega}{4}\sin - a\frac{\omega}{4}\cos + b\frac{\omega}{4}\cos +$ $\begin{array}{l} \theta = a\cos(\omega_0 + \epsilon_{/2}) t - 2a(\omega_0 + \epsilon_{/2}) \sin(\omega_0 + \epsilon_{/2}) t - a(\omega_0 + \epsilon_{/2})\cos(\omega_0 + \epsilon_{/2}) t \\ + b\sin(\omega_0 + \epsilon_{/2}) t + 2b(\omega_0 + \epsilon_{/2})\cos(\omega_0 + \epsilon_{/2}) t - b(\omega_0 + \epsilon_{/2}) t + 2b(\omega_0 + \epsilon_{/2})\cos(\omega_0 + \epsilon_{/2}) t + b(\omega_0 + \epsilon_{/2}) t + b(\omega_0$ negled ä,b $\begin{aligned} \theta &= -2\dot{a}\omega_{0}\sin(\omega_{0}+\frac{z}{2})t - a(\omega_{0}t^{2}+\omega_{0}\varepsilon)\cos(\omega_{0}+\frac{\varepsilon}{2})t \\ &+ 2\dot{b}\omega_{0}(b(\omega_{0}+\frac{\varepsilon}{2})t - b(\omega_{0}t^{2}+\omega_{0}\varepsilon)\sin(\omega_{0}+\frac{\varepsilon}{2})t \end{aligned}$ - 2 a wo sin (wo + =) + - a wo E cos (wo + =/z) + + 2 bwo cos(wo+E/z) + - bwoEsin(wo+E/z) + - Uyow. cos(2wo+E)t (a cos(wo+E/2)t +bsin(wo+E/2)t) define the =h simplify costa...) cost and costa...)sin -D SIN(Worte/2)(-2woia-bwog-withb/2) + coo(usrE/2)(2u2b-aEus+us-ha/2)=0 $- 0 \quad a(t) = a_0 e^{st}$ $b(t) = b_0 e^{st}$ Saot (E/2+Woh/4)bo:0 $\frac{(-2/2 + w_0 h/4) a_0 + 3 b_0 = 0}{3^2 = w_0^2 h^2 - \frac{z^2}{4} > 0 \left[\frac{z^2 \langle w_0^2 h_1 - \frac{w_0^2 h_1}{4} \right]}{4 l}$ -page 13–

CHAITANYA MURTHY

3. Storting from Mathiau's equation, and a linear damping term:

$$\ddot{\varnothing} + 2\lambda\ddot{\vartheta} + \omega_{\sigma}^{2} \left[1 + h\cos\left(2\omega_{\sigma} + \varepsilon\right) t \right] \breve{\varnothing} = 0$$
Since we only need to calculate the range of ε that will cause intolulity, and not the growth rate of said intolulity, it is autificiant to consider the endpoints of the range, where the growth rate is zero and the amplitudes a and b are constants.
Trying $\breve{\varnothing} = a\cos\left(\omega_{\sigma} + \frac{c}{2}\right)t + b\sin\left(\omega_{\sigma} + \frac{c}{2}\right)t$, and using the shorthand $\left(\right) = \left[\left(\omega_{\sigma} + \frac{c}{2}\right)t\right]$,
(*) $-a\left(\omega_{\sigma} + \frac{c}{2}\right)\cos(1) - b\left(\omega_{\sigma} + \frac{c}{2}\right)^{2}\sin(1) - 2\lambda a\left(\omega_{\sigma} + \frac{c}{2}\right)\sin(1 + 2\lambda b\left(\omega_{\sigma} + \frac{c}{2}\right)\cos(1) + a\omega_{\sigma}^{2}b\cos(2) + a\omega_{\sigma}^{2}b\cos(2\omega_{\sigma} + \frac{c}{2})t + \frac{1}{2}\cos\left(2\omega_{\sigma} + \frac{c}{2}\right)t\right]$
As in the provinue problem, we use the product to sum trigonometric identities and orbit the higher frequency terms - $\cos\left(2\omega_{\sigma} + \frac{c}{2}\right)t + \sin\left(\omega_{\sigma} + \frac{c}{2}\right)t + \frac{1}{2}\sin\left(2\omega_{\sigma} + \frac{c}{2}\right)t$
Assuming that λ is a small number, of order ε , we retain terms in (*) to first order in ε to get
 $\left(-\frac{a}{a}\omega_{\sigma}\varepsilon + 2\lambda b\omega_{\sigma} + \frac{1}{2}a\omega_{\sigma}^{2}h\right)\cos(1) + 2\lambda a\omega_{\sigma}c - \frac{1}{2}b\omega_{\sigma}^{2}h)\sin(1 = 0$
 $\Rightarrow \left(-a\omega_{\sigma}\varepsilon + 2\lambda b\omega_{\sigma} + \frac{1}{2}a\omega_{\sigma}^{2}h\right)\cos(1) + (-b\omega_{\sigma}\varepsilon - 2\lambda a\omega_{\sigma} - \frac{1}{2}b\omega_{\sigma}^{2}h)\sin(1 = 0$
The coefficients of the sine and cosine must both be zero, giving
 $-a\varepsilon + 2\lambda b + \frac{1}{2}a\omega_{\sigma}h = 0 \implies (\frac{1}{2}\omega_{\sigma}h - \varepsilon)a + 2\lambda b = 0$
 $b\varepsilon + 2\lambda a + \frac{1}{2}b\omega_{\sigma}h = 0 \implies (2\lambda a + (\frac{1}{2}\omega_{\sigma}h - \varepsilon)b = 0)$

CHAITANYA MURTHY

This has nontrivial solutions if the determinant of the matrix of coefficients of a and b is zero, i.e.

$$\left(\frac{1}{2}\omega_{o}h - \varepsilon\right)\left(\frac{1}{2}\omega_{o}h + \varepsilon\right) - (2\lambda)^{2} = 0$$

$$\Rightarrow \left(\frac{1}{2}\omega_{o}h\right)^{2} - \varepsilon^{2} - 4\lambda^{2} = 0$$

$$\Rightarrow \varepsilon^{2} = \left(\frac{1}{2}\omega_{o}h\right)^{2} - 4\lambda^{2}$$

Recalling from problem 2 that $h = 4y_0/l$ for this pendulum with the vertically oscillating support, we find that instability occurs when

$$\varepsilon^2 < \left(\frac{2y_0\omega_0}{L}\right)^2 - 4\lambda^2$$

Specifically, in the presence of linear frictional damping, there is a threshold amplitude $y_{(MIN)} = \lambda l/\omega_0$, below which parametric instability will never set in, even for $e \rightarrow 0$.

200B Problem Set I, Solution to No.4

Emily Nardoni

1/21/14

Problem Statement:

Let $H(q, p, t) = H_0(q, p) + V(q) \frac{d^2 A}{dt^2}$, for A(t) periodic with period $\tau \ll T$, and T the period of the motion governed by H_0 .

(a) Derive the mean field (i.e. short time averaged) equations for this system.

Solution:

First, we derive the Lagrangian from the given Hamiltonian, and find the Euler-Lagrange equations of motion:

$$H = \frac{p^2}{2m} + V_0(q) + V(q)\frac{d^2A}{dt^2}$$
$$\mathcal{L} = p\dot{q} - H, \quad \dot{q} = \frac{\partial H}{\partial p} = \frac{p}{m} \Rightarrow p = m\dot{q}$$
$$\mathcal{L} = \frac{1}{2}m\dot{q}^2 - V_0(q) - V(q)\frac{d^2A}{dt^2}$$

By the Euler-Lagrange equations,

$$\frac{\partial \mathcal{L}}{\partial q} = \frac{d}{dt} \frac{\partial \mathcal{L}}{\partial \dot{q}} \quad \Rightarrow \quad -\frac{\partial V_0(q)}{\partial q} - \frac{\partial V(q)}{\partial q} \frac{d^2 A}{dt^2} = m\ddot{q}$$

Now, we separate the motion into a centroid part y(t) and a quiver motion $\epsilon(t)$:

$$q(t) = y(t) + \epsilon(t), \qquad \epsilon \sim \cos \omega t, \quad \omega = \frac{2\pi}{\tau}$$

We plug this into the Euler-Lagrange equations, expand (assuming ϵ is small), and pick out the slow and fast parts:

$$\begin{aligned} -\frac{\partial}{\partial q}V_0(y+\epsilon) - \frac{\partial}{\partial q}V(y+\epsilon)\frac{d^2A(t)}{dt^2} &= m\ddot{y} + m\ddot{\epsilon} \\ -\frac{\partial V_0(y)}{\partial y}\Big|_{\rm slow} - \epsilon\frac{\partial^2 V_0(y)}{\partial y^2}\Big|_{\rm fast} - \left\{\frac{\partial V(y)}{\partial y}\Big|_{\rm fast} + \epsilon\frac{\partial^2 V(y)}{\partial y^2}\Big|_{\rm slow}\right\}\frac{d^2A(t)}{dt^2} &= m\ddot{y}\Big|_{\rm slow} + m\ddot{\epsilon}\Big|_{\rm fast} \end{aligned}$$

We take the short time average of the previous equation, where $\langle \rangle = \frac{1}{\tau} \int_0^{\tau} dt$, and note that $\langle \ddot{\epsilon} \rangle = 0$, $\langle \epsilon \rangle = 0$: then we are left with the "slow", or mean field, equation

$$m\ddot{y} = -\frac{\partial V_0(y)}{\partial y} - \frac{\partial^2 V(y)}{\partial y^2} \left\langle \epsilon \frac{d^2 A}{dt^2} \right\rangle$$

The "fast" equation is given by

$$m\ddot{\epsilon} = -\epsilon \frac{\partial^2 V_0(y)}{\partial q^2} - \frac{\partial V}{\partial y} \frac{d^2 A}{dt^2}$$

Note that since $\epsilon \sim \cos \omega t$,

$$\begin{split} & m\ddot{\epsilon} \backsim m\omega^2\epsilon \\ \epsilon \frac{\partial^2 V_0(y)}{\partial y^2} \backsim m\Omega_0^2\epsilon, \quad \omega^2 \gg \Omega_0^2 \end{split}$$

so that we can drop the above term in our fast equation relative to the other terms, and we write our fast equation as

$$m\ddot{\epsilon} = -\frac{\partial V}{\partial y}\frac{d^2A(t)}{dt^2}$$

The idea is to solve the fast equation and plug into the slow equation. Since V is independent of time, we find

$$\begin{split} \epsilon &= -\frac{1}{m} \frac{\partial V}{\partial q} A \qquad \Rightarrow \quad -\frac{\partial^2 V(y)}{\partial y^2} \left\langle \epsilon \frac{d^2 A}{dt^2} \right\rangle = \frac{\partial^2 V(y)}{\partial y^2} \left\langle \frac{1}{m} \frac{\partial V}{\partial y} A(t) \frac{d^2 A(t)}{dt^2} \right\rangle \\ &= \frac{1}{m} \frac{\partial^2 V(y)}{\partial y^2} \frac{\partial V}{\partial y} \left\langle A(t) \frac{d^2 A(t)}{dt^2} \right\rangle \end{split}$$

Note that we can rewrite

$$\left\langle A\frac{d^2A}{dt^2}\right\rangle = \left\langle \frac{d}{dt}\left(A\frac{dA}{dt}\right)\right\rangle - \left\langle \left(\frac{dA}{dt}\right)^2\right\rangle = -\left\langle \left(\frac{dA}{dt}\right)^2\right\rangle$$

since

$$A \sim \sin \omega t \rightarrow \frac{d}{dt} \left\langle (A\dot{A}) \right\rangle \sim \frac{d}{dt} \left\langle (\sin \omega t \cos \omega t) \right\rangle = 0$$

Thus we plug this result back in to our slow equation, and (finally) find our mean field equation:

$$m\ddot{y} = -\frac{\partial V_0(y)}{\partial y} - \frac{1}{m}\frac{\partial^2 V}{\partial y^2}\frac{\partial V}{\partial y}\left\langle \left(\frac{dA}{dt}\right)^2\right\rangle$$

(b) Show that these mean field equations may be obtained from the effective Hamiltonian

$$K(p,q) = H_0(p,q) + \frac{1}{4m} \left\langle \left(\frac{dA}{dt}\right)^2 \right\rangle \left(\frac{\partial V(q)}{\partial q}\right)^2$$

where here <> means a short time average, and we may assume $H_0 = \frac{p^2}{2m} + V_0(q)$. Solution:

Again, we derive the Lagrangian and Euler-Lagrange equations of motion, but this time for our Hamiltonian being the given effective Hamiltonian:

$$\mathcal{L} = p\dot{q} - H, \quad \dot{q} = \frac{\partial H}{\partial p} = \frac{p}{m} \rightarrow p = m\dot{q}$$
$$\mathcal{L} = \frac{1}{2}m\dot{q}^{2} - V_{0}(q) - \frac{1}{4m}\left\langle \left(\frac{dA}{dt}\right)^{2}\right\rangle \left(\frac{\partial V(q)}{\partial q}\right)^{2}$$
$$\frac{\partial \mathcal{L}}{\partial q} = \frac{d}{dt}\frac{\partial \mathcal{L}}{\partial \dot{q}} \Rightarrow \boxed{-\frac{\partial V_{0}(q)}{\partial q} - \frac{1}{2m}\frac{\partial V}{\partial q}\frac{\partial^{2}V}{\partial q^{2}}\left\langle \left(\frac{dA}{dt}\right)^{2}\right\rangle = m\ddot{q}}$$

Thus we derive the same mean field equation as before (with $m \to 2m$, which I believe is a mistake in the problem statement).

5. a) Euler's Eques: without extand toque. $1 \frac{d\Omega_{I}}{dt} = (\Omega \cdot \Omega_{2} \Omega_{3} (I_{2} - I_{3})) \quad (D)$ $I_{1} \frac{d\Omega_{2}}{dt} = \Omega_{3} \Omega_{1} (I_{3} - I_{1}) \quad (D)$ $I_{3} \frac{d\Omega_{3}}{dt} = \Omega_{1} \Omega_{2} (I_{1} - I_{2}) \quad (D)$ $I_{4} \frac{d\Omega_{5}}{dt} = \Omega_{1} \Omega_{2} (I_{1} - I_{2}) \quad (D)$ $Derivation: \frac{dL}{dt} = (\frac{dL}{dt})_{body} + \tilde{W} \times L$. 0 b). Let $\Omega_2 = \Omega_0 + \eta_2$. $\Omega_1 = \eta_1$. $\Omega_3 = \eta_3$. where $\eta_1 \cdot \eta_2 \cdot \eta_3$ are small. Then: $\int I_1 @ \eta_1 = \Omega_0 \eta_3 (I_2 - I_3) + O(\eta_2 \eta_3)$ (2) 1st order: $(I_2 \cdot \eta_2 = O(\eta_3 \eta_1))$ (3) $I_3 @ \eta_3 = \Omega_0 \eta_1 (I_1 - I_2) + O(\eta_1 \eta_2)$. (5) Combine OG: $\eta_3 = \Omega_0^2 \cdot \frac{(I_1 - I_2)(I_2 - I_3)}{I_3 I_1} \eta_3.$ Let $A_3 = \Omega_0^2 \cdot \frac{(I_1 - I_2)(I_2 - I_3)}{I_3 I_1}$ Then $\eta_3^2 = A\eta_3.$ $I_3 I_4$ $I_4 = I_3 I_3$. A > 0. C = Mathematical MathemaSimilarly, change $(1 \rightarrow 2 \rightarrow 3)$, we can get $A_1 = \Omega_0^2 \cdot \frac{(I_2 - I_3)(I_3 - I_1)}{I_1 I_2} < 0$. $A_2 = \int_{c_0}^{2} \cdot \frac{(I_3 - I_1)(I_1 - I_2)}{I_2 I_3} < 0$. In These two Situations, stable C) O Angular momentum $L^{2} = Li + L_{2}^{2} = I_{1}^{2} \Re_{1}^{2} + I_{2} \Re_{1}^{2} + I_{3} \Re_{2}^{2} + I_{3} \Re_{2}^{2} + I_{3} \Re_{3}^{2} + I_{3} \Re_{3}^$

(2) We seek the lowest-order nontrivial solution to

$$\ddot{\chi} + \omega_{*}^{2} \chi = -\alpha \chi^{2} - \beta \chi^{3}$$
. (1)
To begin, let us write χ and ω as a series of
approximation:
 $\chi = \chi^{(1)} + \chi^{(2)} + \chi^{(3)} + ...,$
 $\omega = \omega_{*} + \omega^{(1)} + \omega^{(2)} + ...,$
where we can immediately see that
 $\chi^{(0)} = \alpha \cos \omega t.$
Rewriting Eq. (1) as
 $\frac{\omega_{*}^{2}}{\omega_{*}^{2}}\ddot{\chi} + \omega_{*}^{2}\chi = -\omega\chi^{2} - \beta\chi^{3} - (1 - \frac{\omega_{*}^{2}}{\omega_{*}^{3}})\ddot{\chi},$ (2)
so that the LHS is zero for $\chi = \chi^{(1)}$, we
now plug in $\chi = \chi^{(1)} + \chi^{(2)}, \quad \omega = \omega_{*} + \omega^{(1)}$ to
obtain
 $\frac{\omega_{*}^{2}}{\omega_{*}^{2}}\dot{\chi}^{(2)} + \omega_{*}^{2}\chi^{(2)} = -\alpha(\alpha\cos\omega t + \chi^{(2)})^{2} - \beta(\alpha\cos\omega t + \chi^{(2)})^{3} - (1 - \frac{\omega_{*}^{*}}{\omega_{*}})(-\alpha\omega^{2}\cos\omega t + \chi^{(2)})$
 $= -\alpha \omega_{*}^{2}\cos\omega t + \alpha\omega^{2}\cos\omega t - \ddot{\chi}^{(2)} - \alpha\omega_{*}^{2}\cos\omega t + \frac{\omega_{*}^{2}}{\omega_{*}^{2}}\ddot{\chi}^{(2)}$
 $\Rightarrow \ddot{\chi}^{(2)} + \omega_{*}^{2}\chi^{(2)} = -\alpha \alpha^{2}\cos^{2}\omega t + \alpha(\omega_{*}^{2} + 2\omega\omega^{(1)})\cos\omega t - \alpha\omega_{*}^{2}\cos\omega t + \frac{\omega_{*}^{2}}{\omega_{*}^{2}}\dot{\chi}^{(2)}$
 $= -\frac{\alpha}{2}\alpha^{2} - \frac{\alpha}{2}\alpha^{2}\cos\omega t + 2\omega\omega^{(1)}\cos\omega t.$
Therefore, to seewed order in α , the resonant term
vanishes for $\omega^{(1)} = 0$. The solution of the equation

in this case is then $\chi^{(2)} = -\frac{\alpha a^2}{2\omega^2} + \frac{\alpha a^2}{6\omega^2} \cos 2\omega t.$ For the NL frequency shift, however, we need to expand further. by plugging $\chi = \chi^{(1)} + \chi^{(2)} + \chi^{(3)}$ $\omega = \omega_0 + \omega^{(2)}$ into Eq. (2). This yields $\frac{\omega_{0}^{2}}{\omega^{2}} \ddot{\chi}^{(3)} + \omega_{0}^{2} \chi^{(3)} = -2\alpha \chi^{(1)} \chi^{(2)} - \beta \chi^{(1)}^{3} - (1 - \frac{\omega_{0}^{2}}{\omega^{2}}) \ddot{\chi}^{(3)} + 2\omega_{0} \omega^{(2)} \chi^{(1)}$ $\Rightarrow \ddot{\chi}^{(3)} + \omega_0^2 \chi^{(3)} = -2\alpha \left(a \cot \omega t\right) \left(-\frac{\alpha a^2}{2\omega_0^2} + \frac{\alpha a^2}{6\omega_0^2} \cot 2\omega t\right) \\ -\beta a^2 \cos^3 \omega t + 2\omega_0 \omega^{(2)} a \cot \omega t$ $= \cos 3\omega t \left| -\frac{\beta}{4}a^3 - \frac{\alpha^2}{6\omega^2}a^3 \right|$ + cor wt $\left[-\frac{3\beta}{4}a^3 + \frac{5\alpha^2}{6\omega_0^2}a^3 + 2\omega_0\omega^2a\right]$ For the resonant torm to disappear, we require $\frac{3B}{4}a^3 - \frac{5\alpha^2}{6w^2}a^3 = 2w_0w^{(2)}a$ $\implies \omega^{(2)} = \left(\frac{3B}{8} - \frac{5\alpha^2}{12\omega^3}\right)\alpha^2.$ Hence the O(a3) approximation of the solution has

$$\chi^{(3)} = \frac{\alpha^3}{16\omega_o^2} \left(\frac{\beta}{2} + \frac{\alpha^2}{3\omega_o^2}\right) \cos 3\omega t.$$